| S0233 S.Y.B.SC. (INFORMATION TECHNOLOGY) (CHOICE BASE) (SEMESTER 1lI) / S2040 \COMPOTERTNE:I{WORKS

/ Q.P. Code: 20940

(Time: 2% Hours) SEE T AT
[Total Marks: 75

N.B.: (1) All questions are compulsory. P S POt Ak
(2) Make suitable assumptions wherever necessary and state the assumptions made.
(3) Answers to the same question must be written together. it ‘f _ LA oG
(4) Numbers to the right indicate marks. S0 i
(5) Draw neat labelled diagrams wherever necessary. .-
(6) Use of Non-programmable calculators is allowed. N

1. Attempt any three of the following: AR o R h L5 g SO S 15
/ a. State and explain various types of networks.. What are the different ways: to access ‘the -
Internet? & N PRSI o
/ b.  Whatis Internet standard? Explain the maturity levels OF BFG. Vs 0,0 y

o Protocol layering can be found in many aspects of our lives such as air travelling. Imagine you
make a round-trip to spend some time on vacationat ;a\reSorf::'jfou need to‘gothigugh some
processes at your city airport before flying. You also need to go through some processes when
you arrive at the resort airport. Show the protocol layering for the round trip.using some layers
such as baggage checking/claiming, boarding/unboarding, takeoff/landing. S

d.  Discuss the different quality of service characteristics for overall network performance.
What are the different m‘od‘es"in\"w‘hj\ch"thei'tr,g‘r‘is‘r”ﬁiési" n'of binary data can be accomplished?
Explain each mode. . AL '\ S PSS TS SRS

f. Draw the constellation diagram for theAfolllowihg»c{a’ses:,v«Fin‘d the‘pveak_.ar_h'plitude value for each
case and define the type of modulation (ASK; FSK, PSK, or. QAM). The numbers in parentheses
define the values of I and Q respectively. = - FIT L

i Twopoints at (2, 0)and(3,0)"
iil.  Two points at (3, 0) and (-3, 0) : AR
iii.  Four pointsat (2,2),(~2,2),(-2, ~2),and (2,-2) -
/ iv. 'qu_povinté_at (0,2) and (02 08 e NV g
/ 2. Attempt anythree of the following: .~ © LK 15
a. List the different error correcting codes: Explain-any two in detail with examples.
b. - What are :th'g",fqnctidns of data link layer? What is the relationship between packets and
- frames? Explain the different methods of framing.
¢ We need to use synchronous TDM and-combine 20 digital sources, each of 100 Kbps. Each

~output slot carries 2 bits from each digital source, but one extra bit is added to each frame for

synchronization. Answer the following questions:
i. . What is the size of an output frame in bits?

. What'is the output frame rate?
il. < What is the duration of an output frame?
~iv. . Whatis the output data rate?

SOV o 'What isthe efﬁcie__hcy of the system (ratio of useful bits to the total bits)?

- Whatare the different types of transmission media? Explain each type.
e. . Whatisvirtual circuit network? What are its characteristics?
/ a5 Fo 65 Explain the ’Ehrée-phases of communication in a circuit switched network.
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Attempt any three of the following: 8 o ST o (B8 15

What is HDLC? What are the different types of frames in HDLC? Expl in the different fields N e

HDLC frames. SN : e S

Explain the transition phases of point-to-point protocol. &

Discuss the addressing mechanisms of IEEE 802.11 project. = .=

Explain the architecture of Bluetooth. o

Explain the spanning tree algorithm. > ,

What is Virtual LAN? How are stations grouped into dlfferent \/LA Explain

Attempt any three of the following: 15

Explain the two ways of forwarding of IP packets. " v : :

What is dynamic host configuration protocol? Explain the. DHCP message format :

i. Assume the shortest path in a graph from node Ato node H iSA=>B 5 H. Also assume that.
the shortest path from node H to node N is'H > G 9 N. What is; the shortest path from
node A to node N? /ﬂ ' . .

ii. Explain why a router using link-state routmg needs to recelve the whole LSDB before
creating and using its forwardang table. Iry other rds, why can _t the router create its
forwarding table with a partially recelved LSDB? W 5 -

iii. Is the path-vector routing algonthm closer to the dlst nce-vector routlng algorlthm orto
the link-state routing algori hm?. /

What is routing information protocol?' Explaln th Rl,P algonthm

Draw and explain the IPv6 header format. : ;

What are the dlfferent transxtlon strategles frmn va4 to IPv6? Explam o

Attempt any three of the followmg 15

With the help of a dlagram explam the: Go Bacl\ N protocol

Explain the persnstent and:non- persnstent connectlon

Explain the architecture of electronic mail.

What is DNS? How is name—address resolutlon done? :

What.is secure shell’ Explam the components of secure shell

In a network with flxed value form>1, we can either use the Go-Back-N or the Selective-
Repeat protocol Descrlbe the advantage and the disadvantage of using each. What other
network cnterla should be consxdered to select ‘ clther of these protocols?




